7 il
P) E z Multiplicér decimaler med ti

Navn: Dato:___ Score:____
5,408 x 10000 = 6,401 x 100 =
2,187 x 1000 = 4,949 x 10000 =
8, 856 x 10000 = 4,219 x 10000 =
7,251 x 10 = 1,392 x 1000000 =
2,658 x 10 = 2,805 x 10 =
5,977 x 10000 = 8, 529 x 100000 =
10,225 x 10000 = 10,867 x 10 =
1,276 x 1000000 = 7,514 x 1000 =
3,459 x 100 = 3,407 x 1000000 =
5,496 x 1000000 = 8, 345 x 1000000 =
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PFO. 5

Multiplicér decimaler med ti

Navn:

5,408 x 10000 = 54080

2,187 x 1000 = 2187

8, 856 x 10000 = 88560

7,251 x 10 ="72.51

2,658 x 10 = 26.58

5,977 x 10000 = 59770

10,225 x 10000 = 102250

1,276 x 1000000 = 1276000

3,459 x 100 = 345.9

5,496 x 1000000 = 5496000

Dato:

6,401 x 100 = 640.1

4,949 x 10000 = 49490

4,219 x 10000 = 42190

1,392 x 1000000 = 1392000

2,805 x 10 = 28.05

8,529 x 100000 = 852900

10,867 x 10 = 108.67

7,514 x 1000 = 7514

3,407 x 1000000 = 3407000

8, 345 x 1000000 = 8345000
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